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There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool off time’ to get familiar with questions and to plan your answers,
Read the instructions carefully

Read questions carefully before answering

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the examination hall.
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Question 1 to 5 carry 1 score each.

Answer all the question. (fx1=13)
1. From the following solid which is
amorphous ?
(Sadium Chloride, diamond, metals,
glass)

2. Which of the following concentration
term is independent of temperature.

(Molarity, Mass/Volume percentage,
Volume percentage, Molality)

3. Molecularity of the reaction
INO+0,—2NO, is
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4. Give an example for
Lyophobic Colloid.

5. is a synthetic Zeolite used for
converting aleohols to gasoline.

Question 6 to 19 carry 2 score each.
Answer_any 11 questions, (1 x2=22)

6. State Henry's law and give two important
application?

7. Sea water freezes at lower temperature
than distilled water but boils at higher
temperature, Give reason.

8. 1f30ml of 0.5M H,S0, solution is
diluted to 500ml. Calculate the molarity
of new solution?

9. &*m for NaCl, HCI, CH, COONa are
126.4, 425.9 and 91.0 Scm? mol-!
respectively. Calculate A°m for
CH, COOH

10.  State Faraday's laws of electrolysis.

11, Write electrode reactions and cell
reaction of the cell?

AlJAF || Cu® | Cu
12, Differentiate between order and
molecularity?

13, Inversion of cane sugar is a pseudo first
order reaction. Give reason?

14, Derive the relation between rate constant
and half life period of zero order
reaction?

15, What is the order of decomposition of
ammonia on the surface of platinum
catalyst? Give another example having
the same order ?

I6.  What is the difference between
adsorption and absorption? Give one
example for each

17.  Explain the selectivity of catalyst using
examples 7
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18.  a) Arrange the following ions according
to the increasing order of efficiency of
coagulation ?

Cr,Po>, 802
b) Give the name of the rule related to

above arrangement.

19, Tllustrate the role of depressant in froth
floatation method ?

Question 20 to 28 carry 3 score each.
Answer_any 7 questions, (7x3=2I)

20.  Explain the reasons for the following,
a) White Zn0 becomes vellow on
heating {2 seore
b} FeO is non stoichiometric and has
approximate composition Fe 0

! score)

21, An element with molarmass
2.7 % 10 kg mol” form a cubic unit cell
with edge length 405 pm. If its density
is 2.7 x 10°kg m™. What is the nature of
cubic unit cell.

22, Derive the edge length, radius relation of
b.c.c. structure.

23, Explain the following concentration
terms.
a) molarity b) molality
¢) molelraction

24, a] State Raoult's Law (f seore)

b) The value of Vant HofT factor ' i ' for
aqueous KCl solution is close to 2, while
the value of ' i ' for ethanoic acid in
benzene is nearly 0.5, Give reason.

(2 score)

25.  Explain the working of lead storage
battery.

26.  What is Tyndall effect ? Write two
conditions to takeplace T ndall effect.
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27.  a) Discuss the effect of pressure and
temperature on the adsorption of gases

on solids. (2 scarej
b) What is Freundlich absorption
isotherm (1 scorel

28, Explain leaching of alumina from
bauxite ?

Question 29 to 32 carry 4 score each.
Answer_any 3 questions. Bxd=12

29.  a) Explain the conductance of solids
based on energy bands (3 score)

b) What is n-type semiconductors
{1 score)

30.  What is corrosion? Explain the
mechanism of rusting of iron?

31.  a) Reaction of molecularity greater than
three are rare. Give reasons ? (1 score)

b) The rate constant of a reaction at
500k and 700 k are 0025 and 0.075"
respectively. Calculate the values of Ea
and A (3 score)

32. a) Explain calcination and roasting with
suitable examples {2 score)

b} Explain Hall - Heroult pm-:;css

S (2 scove)
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